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QUESTION NO: 1

Why would you develop an SQL procedure instead of a function?Note: There are 3 correct answers to this question.

A. You want to create a dynamic analytic privilege.

B. A temporary table must be created within the code.

C. Optimal performance is a priority.

D. The code should modify data in a table.

E. You need to use conditional logic. 

ANSWER: A B D 

QUESTION NO: 2

What are the consequences of NOT executing a delta merge?Note: There are 2 correct answers to this question.

A. Aggregates are not adjusted.

B. New records are not read.

C. Read performance decreases.

D. Memory is not optimized. 

ANSWER: A D 

QUESTION NO: 3

What is a restricted measure?

A. A measure that cannot be referenced by a calculated column.

B. A measure that can only be displayed by those with necessary privileges.

C. A measure that is filtered by one or more attribute values.

D. A measure that can be consumed by a CUBE and not a DIMENSION. 

ANSWER: C 

QUESTION NO: 4
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You have generated a calculation view properties file.What does it contain?

A. Descriptions of all objects defined in a calculation view

B. All settings defined in a calculation view

C. Dependencies between calculation views

D. Documentation to support the calculation view 

ANSWER: A 

QUESTION NO: 5

What does SAP HANA provide to support full stack native application development?Note: There are 2 correct answers to 
this question.

A. Code editors and debugger

B. Support for automated regression testing

C. Source code version management tool

D. Incident tracking tools 

ANSWER: A C 

QUESTION NO: 6

What are the limitations of using a full outer join in a star join node?Note: There are 2 correct answers to this question.

A. It must appear in the last DIMENSION in the star join node.

B. It CANNOT be mixed in the same star join node with other join types.

C. Only one column can be included in the join condition.

D. It is restricted to one DIMENSION in a star join node. 

ANSWER: A D 

QUESTION NO: 7

You have imported a new calculation view in a folder that contains an .hdinamespace file. This calculation view consumes 
one data source, which is a table. When trying to build the calculation view, the build fails with a namespace-related 
issue.What could be the reason?Note: There are 2 correct answers to this question.

A. The imported calculation view and its data source have different namespaces.
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B. The namespace used within the calculation view to reference the table is different from the actual namespace in the 
identifier of this table.

C. The .hdinamespace specifies "sub-folder":"append", so calculation views can only be created in subfolders.

D. An .hdinamespace file is defined in the SRC folder that specifies a different namespace property than the one in the 
identifier of the calculation view.

ANSWER: A B 

QUESTION NO: 8

You combine two customer master data tables with a union node in a calculation view. Both master data tables include the 
same customer name.How do you ensure that each customer name appears only once in the results?

A. Define a restricted column in a union node.

B. In the union node, map both source customer name columns to one target column.

C. Include an aggregation node above the union node.

D. Add an intersect node above the union node. 

ANSWER: C 

QUESTION NO: 9

When modeling in the SAP Web IDE for SAP HANA, which object do you build to provide access to tables in external 
schemas?

A. Virtual Table

B. Synonym

C. Association

D. Alias 

ANSWER: B 

QUESTION NO: 10

What is the SQL keyword used to process input parameters defined in a calculation view?

A. Hint

B. Placeholder
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C. Where

D. Set 

ANSWER: B 
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